swnTURE OF GUALE
it

INSTRUCTIONS-INSTRUCCIONES-CONSIGNES

PERFECT FIT BUMPERS

1999-2007 CHEVROLET SILVERADO / GMC SIERRA 1500-3500HD

P/N: 31013 / 32013

ITEM QUANTITY CONTENTS TOOLS

1 1 BUMPER ASSY 18MM SOCKET + RATCHET

2 2 MOUNTING BRACKET (MAIN CHASSIS) 18MM WRENCH

3 2 MOUNTING BRACKET (OUTER BUMPER SUPPORT) 21MM SOCKET + RATCHET

4 2 BOLT PLATE (M12 X 35MM BOLTS) 21MM WRENCH

5 4 M14 X 45MM BOLTS 19MM SOCKET + RATCHET

6 4 1/2" X 1-1/2" BOLTS 19MM WRENCH

7 4 1/2"” FLAT WASHERS

8 4 M14 FLAT WASHERS

9 2 M10 X 40MM BOLTS

10 6 1/2" HEX NUTS

11 2 1/2" CARRIAGE BOLTS

12 2 M12 HEX NUTS W/ATTACHED WASHER

13 2 LICENSE PLATE LAMP HOUSING

14 2 LICENSE PLATE LAMP LIGHT BULBS

15 1 LICENSE PLATE LAMP WIRING ASSY.

ARTICULO] CANTIDAD CONTENIDO HERRAMIENTA

ENCHUFE de 18 MM +

1 1 ASAMBLEA ABUNDANTE se INCREMENTA

2 2 El CORCHETE CRECIENTE (PRINCIPAL CHASIS) ARRANCAN 18MM
ENCHUFE de 21 MM +

3 2 El CORCHETE CRECIENTE (APOYO ABUNDANTE EXTERIOR) se INCREMENTA

4 2 CIERRE PLATO (CERROJOS de M12 X 35 MM) ARRANCAN 21 MM
ENCHUFE de 19 MM +

5 4 CIERRAN M14 X 45 MM se INCREMENTA

6 4 CERROJOS 1/2" X 1-1/2" ARRANCAN 19MM

7 4 ARANDELAS PLANAS 1/2”

8 4 ARANDELAS PLANAS M14

9 2 CIERRAN M10 X 40 MM

10 6 TUERCAS de MAL DE 0JO 1/2”

11 2 CERROJOS de COCHE 1/2”

12 2 TUERCAS del MAL DE 0JO M12 CON ARANDELA CONECTADA

13 2 ENVOLTURA de LAMPARA de MATRICULA

14 2 BOMBILLAS de LAMPARA de MATRICULA

15 1 ASAMBLEA de ALAMBRADO de LAMPARA de MATRICULA

ITEM QUANTITY CONTENU OUTILS

18 MM LA DOUILLE +

1 1 ASSEMBLEE EXCEPTIONNELLE AUGMENTE

VoOoONO U1 DA W N

H N DMNNDN ODNDPADRARD DN NN

LE CROCHET MONTANT (LE CHASSIS PRINCIPAL)
LE CROCHET MONTANT (LE SOUTIEN EXCEPTIONNEL EXTERIEUR)
VERROUILLER LA PLAQUE (M12 X 35 MM LES BOULONS)
M14 X 45 MM VERROUILLE

1/2” X 1-1/2" BOULONS
1/2” RONDELLES PLATES
M14 RONDELLES PLATES

M10 X 40 MM VERROUILLE

1/2” NOIX DE SORT

1/2” BOULONS D'ATTELAGE

LA RONDELLE DE W/ATTACHE DE NOIX DE SORT de M12
AUTORISER LA PLAQUE LAMPE LOGEMENT

AUTORISER LAMPE DE PLAQUE AMPOULES LEGERES
AUTORISER ENSEMBLE D'INSTALLATION ELECTRIQUE DE LAMPE DE PLAQUE.

18 MM LA CLE PLATE
21 MM LA DOUILLE +
AUGMENTE
21 MM LA CLE PLATE
19 MM LA DOUILLE +
AUGMENTE
19 MM LA CLE PLATE

Westin Automotive anlucts, Inc.
! 5200 N. Irwindale Ave. Suite 220
. Irwim‘lale, Ca. 91706
w&m

Thank You for choosing Westin produc’cs
For additional installation assistance please call

Customer service (800) 793-784:6 or (507) 375-3559




INSTRUCTIONS-INSTRUCCIONES-CONSIGNES
. PERFECT FIT BUMPERS
1999-2007 CHEVROLET SILVERADO / GMC SIERRA 1500-3500HD

P/N: 31013 / 32013

Removal instructions

WoNOIUNRWNE

Verify all hardware contents listed above are present. Carefully read all instructions before installing.
If vehicle is equipped with a receiver hitch system, remove the two bolts that support the bumper on the hitch. (FIGURE 1)
Remove the nuts from the main bumper bracket located in front of the bumper assy. (Figure 2)
Remove the nuts and bolts from the lower portion of the inner bumper brackets. (FIGURE 3)
Remove lower bolt for inner brackets to chassis. (FIGURE 4)
Remove the connector for the license plate lamp from the junction block located next to the spare tire. (FIGURE 6)
The original bumper can then be removed.
Transfer any other original parts to new bumper as needed.
Install new inner brackets to frame rail using two M14 bolts and two M10 bolts.
Install new outer brackets to the new bumper using the supplied carriage bolts, flat washers, lock washers, and nuts. (FIGURE 5)
Splice original harness connector to new harness based on wire colors.
Install the new license plate lamp housings bulbs and harness to the new bumper. (FIGURE 7)
Install the new bumper to the frame, use the supplied bolt plate and nuts to hold it in place while all other hardware is installed.
Do not tighten any hardware until all other hardware is installed and aligned.
Reconnect wiring harness.
Tighten all bolts to torque spec of 90 ft/Ibs.
(It is recommended to occasionally re-check and tighten hardware)

Care instructions

Regular waxing is recommended. Do not use any type of polish or wax that may contain abrasives
Stainless steel products can be cleaned with mild soap and water. Stainless steel polish should be used to polish small scratches.
Gloss black finishes should be cleaned with mild soap and water

Instrucciones de eliminacion

SN AWN =

Verifique todo contenido de ferreteria listd encima de son presente. Lea con cuidado todas instrucciones antes de instalar.
Si vehiculo es equipado con un receptor ata sistema, quita los dos cerrojos que sostienen los parachoques en el ata. (FIGURA 1)
Quite las tuercas del principal corchete abundante situaron delante del assy abundante. (FIGURA 2)
Quite las tuercas y los cerrojos de la porcién mas baja de los corchetes interiores de parachoques. (FIGURA 3)
Quite cerrojo mas bajo para corchetes interiores al chasis. (FIGURA 4)
Quite el conector para la ldmpara de matricula del bloque de empalme situd junto al neumdtico de recambio. (FIGURA 6)
Los parachoques originales entonces pueden ser quitados.
Transfiera cualquier otras partes originales a nuevos parachoques necesitaron como.
Instale nuevos corchetes interiores para encuadrar utilizar de baranda dos cerrojos M14 y dos cerrojos M10.
Instale nuevos corchetes exteriores a los nuevos parachoques que utilizan los cerrojos suministrados del coche, arandelas planas, cierran aran-
delas, y las tuercas. (FIGURA 5)
Empalme el conector original de arreos a nuevos arreos basados en colores de alambre.
Instale las nuevas bombillas de envolturas de ldmpara de matricula y enjaece a los nuevos parachoques. (FIGURA 7)
Instale los nuevos parachoques al marco, utilizan el plato suministrado de cerrojo y tuercas para tenerlo en lugar mientras todo el otro serreteria
es instalado.
No apriete ningln ferreteria hasta que todo el otro ferreteria sea instalado y es alineado.
Conecte de nuevo arreos de alambrado.
Apriete todos cerrojos al spec del momento de torsion de 90 p/Ibs.
(Es recomendado para reexaminar ocasionalmente y para apretar ferreteria)

Cuide las INSTRUCCIONES

REGULAR DANDO CERA ES RECOMENDADO. No UTILICE NINGUN TIPO DE polaco ni la CERA QUE mayo CONTIENE ABRASIVO.

Los PRODUCTOS del ACERO INOXIDABLE PUEDEN SER LIMPIADOS CON JABON Y AGUA TEMPLADOS. El ACERO INOXIDABLE polaco DEBE SER
UTILIZADO A PEQUENOS RASGUNOS polacos.
LUSTRE los FINES NEGROS DEBEN SER LIMPIADOS CON JABON Y AGUA TEMPLADOS.

' Westin Automotive Products, Inc. Thank You for choosing Westin products
fz‘?o dlj.l' I’é"i“g";l; &"e‘ Buite 220 For additional installation assistance please call
e T Customer service (800) 793-7846 or (507) 375-3559



INSTRUCTIONS-INSTRUCCIONES-CONSIGNES
. PERFECT FIT BUMPERS
1999-2007 CHEVROLET SILVERADO / GMC SIERRA 1500-3500HD

P/N: 31013 / 32013

Instructions d'enlévement

SYONoUhWNE

Vérifiez qu'il ne manque aucune piéce. Avant de procéder a l'installation, lisez attentivement toutes les instructions.

Si le véhicule est équipé d'un systéme de barre d'attelage, retirez les deux boulons qui maintiennent le pare-chocs a I'attelage. (FIGURE 1)
Retirez les écrous du support de pare-chocs principal situé devant le pare-chocs. (FIGURE 2)

Retirez les écrous et les boulons de la partie inférieure des supports de pare-chocs intérieurs. (FIGURE 3)

Retirez les boulons inférieurs des supports inférieurs du chassis. (FIGURE 4)

Retirez le connecteur d'éclairage de la plaque d'immatriculation du raccord multiple situé prés de la roue de secours. (FIGURE 6)

Retirez le pare-choc d'origine.

Transférez toutes les pieces d'origine sur le nouveau pare-chocs, le cas échéant.

A I'aide de deux boulons M10 et M14, fixez les nouveaux supports intérieurs au cadre de chassis.

A l'aide des écrous, des rondelles freins, des rondelles plates et des boulons de carrosserie, fixez les nouveaux supports extérieurs au nouveau
pare-chocs. (FIGURE 5)

Raccordez le connecteur de faisceau de fils d'origine au nouveau faisceau en fonction de la couleur des fils.

Fixez I'ampoule d'éclairage de la plaque d'immatriculation et le faisceau de fils au nouveau pare-chocs. (FIGURE 7)

. Al'aide des écrous et de la plaque pour boulon fournis, fixez le nouveau pare-chocs au cadre pour le maintenir le temps que vous posiez toutes

les autres attaches.

Ne serrez pas les attaches avant que toutes les autres ne soient installées et alignées.

Rebranchez le faisceau de fils.

Serrez tous les boulons selon la spécification de serrage suivante : environ 27 m/kg.
(Nous vous recommandons de vérifier et de les resserrer réguliérement)

ENTRETIEN ET INSTRUCTIONS

CIREZ REGULIEREMENT. N'UTILISEZ PAS DE PRODUITS DE POLISSAGE OU DE CIRAGE ABRASIFS

NETTOYEZ LES PRODUITS EN ACIER INOXYDABLE AVEC DU SAVON DOUX ET DE L'EAU. UTILISEZ DES PRODUITS DE POLISSAGE POUR ACIER
INOXYDABLE AFIN DE POLIR LES PETITES ERAFLURES

NETTOYEZ LES FINITIONS NOIRES VERNIES AVEC DU SAVON DOUX ET DE L'EAU.

NG

Irwim‘la.le, Ca. 91706

. Westin Automotive Products, Inc. Thank You for choosing Westin products
5200 N. Irwindale Ave. Suite 220 For additional installation assistance plea,se call
Panm

Customer service (800) 793-7846 or (507) 375-3559



